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SANSKRIT (ELECTIVE)
SAMPLE QUESTION PAPER
Std : Xli
qHA: | g qurieRT: © 100
et a9 - 3 9 AfHad i -100
Time allotted — 3 Hours Maximum Marks - 100

ICECUE
Instructions :

o  TSTHATATT HAUT THTATHALINN HEHAAF AGH AT |

Sgl Tehd o A1 THT TAT o IO T65hd H gl (@]

Answer all questions in Sanskrit, unless instructions are given otherwise
o  TEHT YT FcATL: GUST: AiATH I |

TH IO H§ A GO 3 |

There are four sections in this question paper.

GUE : & (SECTION A)
FUTEATL - AT
AAFSATI — AT

UNSEEN READING COMPREHENTION

1. srenforfed srq=eeed Tfs@T Ty d&Fa I - 15 gt
Aeforfad ST ST=aal il Teh? TaT T & IO HEhd | aITorT -

Read the following two passages and answer the given questions in Sanskrit :

@) TIH: AT [5]
Teureh  fasmaer sreatess A giama = a0 ofeq | geor-agr-a=-f=iaar-
ARG T TT%: TATE: F90d | ST STeq AU eTh: THLOLrh: = |
STATH AT o FH BT GH | ALERIIET T Foddel: AT TLHATAAAT: AT
SET: [T AR ATT FEORIHAT: Aaed | g G daeg: T 9aq
AT STETET: eaT S T Fxied: | areAr: A1 FEqiead FIeT-Freo o= q9frgar:
ST "fed | T afg: Hifeq T =afva I arREas: 9T 7 S add|




AT
q ST Y2x2=1
U 9758 H I¢ fofew

Answer in one word only.

() ST AIIET FoqgeT: o 77 ?
(i) ~ FSIURET LTI h: HIgefT ?
g gUtaTR ferea 2x1=2
T ATHFT H 3L [T
Answer in a complete sentence :
AT o FETOHRIARN SIS F WA qlg (6 Aasad ?
q AT I Vox4=2
77 A9 3 difvT

Answer as directed

()  SToEH AT o FH FHUTd 27 | ATER ary fohamag e ?

(i)  STTEH AT o FH U TaH T 3 M58 HEd TIH ?
(i) ‘=ATIH: TATE:, T AAqTUTIE R ?
(iv) ‘Y A 9ee GHETEE 98] Aqoeald =l (oad |

@) T aT=s: [10]
AT AT qrEdt S | AT qfaeder fUF I AT qeeTHeEq | Av
e aaraTd: qa: =id & |Sid=g fGare a7 aorwee GEmr =g
FrATT 7 gTefa &7 | F=a< qaT dafd F<hH | 3Td: TET: T8 TI0I 2 STTaH |
UHET Ueh: 9g: qEdT: ATHH AN=gd | 9 Iadl qIearan: YAy T0=ed |
qTEC T QU AT Sq | T&T TTEcAT: HET Taad Iq TUT Tiaedor ford ST aoet
FUTT | T: a2: T2 — T(< TH dlg A=qH Taq | @dT TATG Hfod qq:
A=A e 97 RErg=ar @ 9997 SqH=ar | UF gher 7: foaEea
AXAT | qrEdl fEEeEaT FET dgAT 98 GEATUOHG S HedT dd:
i =aq | TaT 1906 9er: ¥4 &g/ qrEdl Tdi=gor Sighadard |

F  THISH 39T | UF e ¥ 3¢ forferm | 1%2=2

Answer in one word only.

(i) fEATE== T #1 et ?
(ii) aradt fRrafaeaT $gT e 98 FEATIHT ST =aH TR ?
g quiaTR forEdl IoF 9T § 39 e | 2x1=2
Answer in a complete sentence :
TET: qC: F S]T{ﬁ—d: 2
T JUTASUH 7T To7 fAaer 9 Sifsm) 1x4=4




Answer as directed
() ‘ofasq =ia HFaErTeer aq=eerq T foaa ?
(i) ‘T TRTOr F: AR Sd o |y 3fq g e T ?
(i) ‘T aw:, st faeroorag faheg 2
(iv) ‘TFeET T TeE THIIeH Aqogarq f=rear forad |

T A AT Fd qqr=rd ofid= feraa 2
T A=ae A1 g o forfen

Write a suitable title for this passage.

guUs : g (SECTION B)
W’rr THAATHFHAH
e TAATHS 1Y
SANSKRIT WRITING SKILLS 15 Marks

2. ASSUTISTIRTHT GgraadT stenferterarat g e i st 1:
feraa 1x10=10
HoS[UT H [0 1T greai st ggraar & Maferfed aeram § Repeamat it qfd w2 war
ﬁ‘f—[:%‘%"’{l

Fill in the blanks in the following short story with the help of the words given in the box

below and rewrite the same.

HaT g T Tt T T v (1)-———-- THIT ITHE=AT | q1(2)---—--- U] T
T ATASATH| AT TGAT ANTAH T (3)---mmmmm gEavdl | Woolsh goedAl Al (4)----mm- |
qIT: T s ofterma g (5)------—-- quitaT wed Raaet | fadi: g A agear adq
(6)------- orfard:| woolsh: T e A @ F (7)-—mv HeaT o Togq | dal

JTEE: qE@T FHATL (8) | T e e e 99 (9)-——-- &
HIATAT ? I: ATSq —“TTHA TS TS TEF (10)--nnnmmv TSAT T | TAq Al
s T fSsrae s

forsITeq, a7, AAHIAT, AT, Ao, JaH, Aeg], HOAT:,
SaTa<q, HAT

3. AT TSAIRTHT HgTAAT T Sehaaraly ‘TE0 Agwaq 3fd vy foaa- 5
Hoo[uT § f3U MU ereai it Fg1=ar |/ ‘AT Hg<d® & QU § I a7 §&ha |
ferfem




With the help of the words given in the box below describe ‘F&TTUT ’I Hg<aH in five

sentences.

L

ATATEIAH, STE, FTSH, TLTAHT:, FATH, Her@Uol, I, ToaTior, Foh:,
Togfed, TEAHT:, TTOTATIH, 9T, TATFL0ET, ST

gU< : T (SECTION C)

gfSaiemaa e, SFaaedsd 9 qRad:
qfSqier SEare Ud §6hd qIiged-a=d
Reading Comprehension and Introduction to History of
Sanskrit Literature 40+10= 50 Marks

4. srenforferaereriet , w=risl , AT T IfS@ET IO I TATASS HFEhae I |
fAerferiera Trermer | q=rier T AT F I (<U TT T47T % 3L 96hd H <1971 |

Read the following prose , poetry and drama passages and answer the given questions in

Sanskrit.

&, AT

o7 gREifA=To gfEam: aaseEn: | O T 9En 9Erg=ad | ard o eI

AAA- A qTA-FAA-TATAA-THTAA-ATATATEATI | SEFHAST TAHGT: | TATSFAZS T
TIHSAL TIT TEINET dg IreAT: Gaiad Faa |
EPLE

1. THIST ST |TF 952 H 3¢ f@IF@U| Answer in one word only. Yo x2=1
i. g T g ?
ii. : giream: gafa T Faam ?

2. quiaTR= forad | ot a7 3w forfaw | 1%2=2

Answer in a complete sentence :
. gfers: & amreTa gaqer 3saed ?
3. auTRQeH S|  TT Ay S &if91 | Answer as directed . 1x2=2
i. gt TaweT:” stead & faeroong 2

ii. < FAAT AT FgIS T ?

9. 9T

AT F= T 1 OO QT s I o sfrorea: |
TR Ta i e fAsafa e afeq qea: e




TAAT:

1. THYeH ST | UF sx H I ATl Answer in one word only. Yo x2=1
i ;1 Aorgls fewaed: e ?
ii. T & o TSt ?

2. guiaTRI forad | Iof ar e # 3T forfe | 2x1=2

Answer in a complete sentence :
i, FSTAT: HeqT QAU : T ?
3. W—?ﬂ{ I | AT [HEer 3T AT | Answer as directed . 1x2=2
i, ‘IR Tha geeT fAewas o s ?

i, foraea: =i geer faersaag e 2

M. TS
AEeUAT o STToTad AT § F9er: HF A (TT97)
ELCE . T9Iq FHTEATERTEA |
ECE . GEHENT F | TEHTEHTERISTHA: |
ECCE S R R IR G
ECE : A @t | gieaa 7 gearteeie qonmee | & T 9o ?
Tcdeh STAHEAT: FATAAT F0SHT (AUTSNTorE Tferdre: | I =
EEIOE L e
AT
1. U9 I 1T 9s2 § 3¢ forf@Tl Answer in one word only. Yo x2=1

i.3Tger: ST 3 ?
ii. F: 79T qTARTALH ?

2. quiaTRI forEd | ot are ® 3 forfe | 1%2=2

Answer in a complete sentence :
i. TS AEEAT: o TreraTe: ?
3. TSR ST |7t f3er ST FST | Answer as directed . 1%2=2
. ‘geag: 3fq ueer waTaaeE 6 g ?
ii. ‘s =i oeer RAAwerag & g ?
5. srsaryidq AT feraa | ersat &t et & e iforg | Yo % 4=2

Match the words with their meanings and rewrite the same.
i, g AT
RECIEI e




I ENIET] STRTOTT
iv. ST [ENEET
6. srenferfaray arRy YETfeFauarta sreger wafaAtt F&a | 1 x 4=4
TGThd T&1 o ST 9 T AT Shifory

Frame questions on the basis of understand words.
i, AT @I SrEstiad w1 |
ii. T TSAT &g oI @ ah: ATred |
iii. TTAYEET U T: oTenTE A= ofaeata |
iv. STfcstad gRATawa: T T9e: 399 |
7.W@WW@:WWTWWW| 3+3=6

eTerera a1 ATarel § Tos[uT H QU 70 91&aT i ggraar & RnedT i sl id
FforT |

Fill in the blanks in the following two explanations with the help of the words given below.

. TR ATeqqeadL I |

q ATHTO Fod ATFEqaqadd |

ATl - o el afd A I ST ST ! i v, Al I Iq
AT i e, T T UF SO 3= SHT: 10 Fdteq | 7 98: S
2 G T TR T ST THS AL |

3. Ty e A greaasamT: |
farera: Fataar gaT At FaaaveaEg

AL - Fd: I 36 T | Taade9 Jgu i. ....... T AT T

FRTHT AT O i ... faf=ras | wad = 9T ii. ... farersror qut srAeey
REIRN

HETTE: , @O, FHIE, AT, Teaid , fageaoed

8. srenferfaaa: saaar: Rereamgfd $&a 1%+1% =3
et S et F ot § Remeamat i i o
Fill in the blanks in the following prose-order — renderings of the two verses.

1. STfed AT qaT AL ALsrersiiad |
THG T AT AE AT @470




a1, dweay fesaferfa ferdter Mo ieraenasan |
SUTATA=IT [ETETOTT e TI aLaeq e ||

& e B H R e G T 1 Bl 1 £ A TR et Aol i, e,
e asTan.  fararer i, oo |

9. FTYTM<ER ST | TT fA<er 3T €W | Answer as directed .
. FJIe e = fRga | Fat vg e 1A 1x2=2
Select the subject and verb.
i A AHAAY |
ii. FHIIIIOT T qUITeq T2 |
o, faersafaret foga | Erersfereror 7w 1x2=2

Select the subject adjective.
i. 18 fAfereqaaT s [Aesamad |
ii. AT FERAT Tgq I
T. FTAITEAITRAT: X@TTEHd qaaqTas HTHT TIIE ? 1x2=2
ST TRdl § Y@l tehd qadrads foeeh o T=<6 3 ?

In the following two lines for whom are the underlined pronouns used ?

i, F ITHATI F&d |
ii. TEAT: ITETR: YT AT F |

5. F: % HYATQ ? FI9 A Fg T@T 8 2 Who s saying to whom ? 1x2=2

i, ST | erfea O\ ? T A ara ?

i, A R TAATHEIET aTeH oh: |
3. FHTTYS 9% R | F9ERE 92 T | Select and write the synonyms. 1x2=2
q: e
“RIRY FATHT TR TGl AATALSHd T 7 TgH
10. . A {ATETAGHRTT FEATAFET FTAET T for@d | 1x5=5
Frerferfaa ora@ei % T 1 &1 919 o |

Write the names of any one work of the each of the following poets.

ATLAT, IGATH: , ATH: , FHIIETE: , JTTHE:

g. AN aTaT=T @t AT forea | 1x5=5



oo TaTs & @i & "1 o |
Write the names of the authors of the following works.
foETSIaSTT: |, T, Bramer , Aaardss , Taraail

gus : ¥ (SECTION D)
TRISATHC: (FT TF AAHR)
Metres and Figures of Speech 20 Marks

11, & WIS | T4 o I 21T | Answer the questions. 1x2=2
i. TTorey &9 forE |

ii. 9TeehT A 0T ?

. STefrraau Ty T: g3 | Aeferfera afvsmorst & g fifem | 1x4=4

Complete the following definitions.

. [aMaN N
I SAdrdlQliLderq | IS

e e Arfery ArReTs: |

. s ea-agaar: % F o ? RuffRg e & smamasaE? 1x2=2
What is the metre in the following lines ?

i. TAT | HHIG T gdvaaand |
ii. 79 3 g e yeqar arfaws: |

T, THET Grad: IeTgLu for@q | Rt U g1 &1 3aor e | 2x1=2
Write an example of any one of the following meters.

EGEIREED] HeaToh e

12. 3. FEITAQHET ARTASHIET FIQTZL0 eqvr fora | 3x1=3
ForelT T STeaRT T IaTE0 e |
Write an example of any one of the following figures of speech .
ST JH:
q. FATHRET AATASHILE ALVETEL0 A o | 3x1=3




ForelT T T TATARTE T FIRTE LT A0 forferT |
Define the illustrate any one of the following.
STHT ESEEN
. FnfrferaasaT: ¥ sagsr: 3fa g ?
et afe<hat § &9 F9 F JGH 8 ey |

What are the figures of speech in the following lines.

i. THT T qOET AT /199 AT

ii. TSR aa e U RIS |

T, FffEaqufATa T IFd | Refered afearmstt fr @1 Sy |

Complete the following definitions.

[T T |

kkkkkk

1x2=2

1x2=2



